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ai ( 1xB=8)
1. Glycolysis is inhibited by
a) Excess of ATP
b) Lack of NAD+
c) Excess of citrate
d) all of the above

2. Phosphofructokinase, the major flux-controlling enzyme of glycolysis is allosterically inhibitad
by and activated -
a) AMP | P
b) ADP AMP
¢) Citrate ATP
d) ATP PEP
3. The rate of the FA oxidation can be Increased by increasing in the diet,
a) PUFA
b) MUFA
c) Carmnitine
d) creatinine

4. The Increased LDL in the bliood due fo fipid rich dist is uptaken and reprocessed by
a) Small blood capillaries
b) Adipose tissue
€ Liver
d) Brown adipose fissue
3. Micelles of fatly acids in water are organized such that the ___ face the solvent and the - _
are directed toward the Interior
a) hydrophilic heads: hydraphobic tails
b} carboxyfic acid groups; hydrocarbon chains
€} hydrophabic tails: hydraphiic heads
di Both A And B are both correct

6. When blood glucose level becomes lower than normal, i is replanished by glyeogen break
down fram '

a) Liver

b] Muscle

¢} Liver or Muscle

d} Mone of the above



7. @ helix most closely matches the |evel of protein structure describad below.
a) Primary sfucture
b) Secondary stucture
¢} Teriary sfuctura
d) Quternary structura

8. The major control of de novo pyrimidine nuclectide synthesis in man s:
a) feedback inhibition of aspartate transcarbamylase.
b) avallability of N-acetyl glutamate.
) subsirate availability.
d} competitive inhibition of carbamoyl phosphate synthetasea ||

Qi Answer any seven questions [ 2x7=14)

a) Why Glucosa -6-phosphatase and Glucokinase don't make futile cycla in liver call
cytoplasm?

b) How does Acetyl-coA come to cytoplasm for FA biosynthesis?

o) What are anaploratic reactions? Give examples

d} Which is the regulatory enzyme between fatty acid oxidation and fatty acid biosynthesis?

&) What is the end product of glycolysis in erythrocytes and why? ;

fl Differentiate the reactions catalysed by carbamoyl phosphate synthase | and Il

g) What is the difference in Free energy and standard free energy of reaction

i) Explain fransamination reaction with any one example

iy What are the precursors for salvage pathway of puring nuclectides

am
a. Explain the coordinated regulation of Glycolysiz and TCA cycle. {6}
b. Give a defailed account on Glycogen breakdown. (8}
OR ;
b. Explain the regulation of cifric acid cycla. (8)
Qv

a. Explain: *The free energy changes of a reaction is independent of the pathway by which
the reaction occurs, it is only that the reaction proceeds from high energy status fo the

lower energy status”. ; (&)
b. How oxidative phosphoryiation is regulated? Explain. (6}
OR
b. Write the reactions for conversion of palimitoyl Co-A to acetyl Co A. (B)
av
a. Give a detaill mechanism of oxidative deamination of Glutamata, =]
b. Explain the role of glycolytic intermediates for amino acid biosynthesis. (B)

OR



What are essential and non essential amino acids. _
Name the all amino acid/s and carbohydrate intermediatefs required for hame

(3

biosynthesis, - (3
avi
a. Give the importance of HGPRT in purine and pyrimidine metabolism, (B)
b. Explain the reactions for conversion of ribonuclotides to decxy ribenuclotides  (6)

OR

b. Give an account on purine nuclectide biosynthesis

(8)
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